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Note :— Attempt all questions.

1. Attempt any four parts of the following :  5x4=20

(a)

(b)

(c)
(d)
(e)
(H)

Define and explain business environment.

Explain its various components.

Critically examine India's industrial policy since

1991 and discuss its outcome.

Explain public sector in context to India.
Explain economic libralisation in detail.
Write a detailed note on Euro norms.

Discuss the role played by Development Banks

in India.
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2. Attempt any four parts of the following :

3.

(a)

(b)

(c)

(d)

(e)

(H)

Attempt any two parts of the following :

()

(b)

(c)

5x4=20

Explain characteristics of business and business

environment.
Discuss the salient features of MRTP Act.

Discuss the need and importance of government
program in context to developing country like
India.

Discuss the role of globalisation.

What are the main thrust areas of current

industrial policy of India?
Discuss the tools of monetary policy.
10x2=20

How does political and social factors affects the

environment of business?

Write the role of economic policy in the growth

and development of a country.

Distinguish between the characteristics of

socialism and captialism.
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4. Attempt any two parts of the following :  10x2=20

5.

()

(b)
(c)

Attempt any four parts of the following :

(a)

(b)

()
(d)
(e)
(H)

Mention the reason behind poor performance
of public sector enterprises.

Write a note on export promotion in India.
Write a note on [IBI.
5x4=20

Explain how technological factors affects the
environment of business?

Write a note on legal environment of business
in India.

Give a detailed note of account on IDBI.
Discuss the essential provisions of FEMA.
Discuss the provisions of IPR.

Discuss the strength and weakness of Indian
economy.
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